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X
Assume the follg\;ring:
Vee at the edge between OFF and active =0.7 V
Vee at the edge between active and saturation = 0.8 V
Ve at the edge between active and saturation is=0.4V

V¢ in comfortable saturation is=0.2
B of the transistor = 200
Ve =5\
Given 4 diagrams for TTL gates.
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The gate that hasa passiy pull-down is:
(a) All
Aandb
Candd
{d) None

The slowest gate is:
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The gate with tT,S’ most power dissipation is:
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The gate with an active pull-down is:
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When all inputs are Low transistor Q1 is in:

Gates with totem pole are:

i. OFF mode a. ALL
@ Forward Active mode b.- None l//
iii.  Inverse active mode @ AandB
iv. Saturation mode ' d. CandD
If a specifications reads that I, =- 1.4 mA then itis | The transistor that will never saturate is:
for: N s 1. Q1
1) A v : 74 07
@ B VL\ : 3 a LQ 1/
T e 2 e T T )
4) D o) Q5
5) AorB 6. Qb
Tgﬁate with the best shape I/O characteristic: Fan out of these gates is calculated when:
i’ A A Inputis Low
i B = l/ (_D B. Inputis High <
iii. (@ C. Outputis Low
iv. D

D. Quiput is High




